IMACIIOPT
KO Ne 9 «11OC»

3aB. k6 Hapaesa 3.B.
A) a=6, B=11.7 S(A)=70.2 m?

N
Ay

B) a=6, 8=2.7 S(B) =15.6M? (noaco6Hoe nomeliueHue)

OCHAILIEHHE
HanmenoBanue Konuuectso lon Cpox [Tpumeyanue
MPHHATHA | IKCIUTyaTalHH
(B k0.)

Cron yuurtenbckuii 1 2020
Ctyn yuurennckuii 0
Cron komnbtoTepHslit | 0
Crtyn komnstoTepHbit | | 2020
ITapra yyeHHueckas 12 2020
Ctyn yyeHH4ecKHii 24 2020
Jlocka: 2

MenoBas 1 2020 6 ner (c 2014)

MapKepHas

HHTEpaKTHBHasA 1 2020 HurepakTuBHas

naxenb
[1K 25 2020 HoyTt6yk
[TpoekTop 0
DKpaH noaBecHo# 0
ITpuuTep 0
IlIkad 0
OrHeryuuHTens, poytep

Jpyroe

9
01.11.2020 3am. aupektopa no AXY ‘% / Taunes 3.5.

¥ f"i



